
Séquence de Nombres Linéaires (G)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 6570 6520 6470 6420 6220 6170Différence commune:2. 7610 7600 7590 7580Différence commune:3. 7099 7029 7009Différence commune:4. 6170 5970 5870 5770 5270Différence commune:5. 8688 8638 8588 8338 8288Différence commune:6. 4373 4368 4363 4343 4338 4333 4328Différence commune:7. 5184 4684 4584Différence commune:8. 2485 2480 2470 2465Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (G) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 6570 6520 6470 6420 6370 6320 6270 6220 6170 6120Différence commune: -502. 7670 7660 7650 7640 7630 7620 7610 7600 7590 7580Différence commune: -103. 7099 7089 7079 7069 7059 7049 7039 7029 7019 7009Différence commune: -104. 6170 6070 5970 5870 5770 5670 5570 5470 5370 5270Différence commune: -1005. 8738 8688 8638 8588 8538 8488 8438 8388 8338 8288Différence commune: -506. 4373 4368 4363 4358 4353 4348 4343 4338 4333 4328Différence commune: -57. 5284 5184 5084 4984 4884 4784 4684 4584 4484 4384Différence commune: -1008. 2500 2495 2490 2485 2480 2475 2470 2465 2460 2455Différence commune: -5Mathslibres.com


